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The verse says ‘thus’; implying constraint — X312%¥ 7725 K92 AN

OVERVIEW

The X723 explained that a 772 cannot be released with a vl because
concerning her release through 7% the 770 uses the word 7122 (thus);
indicating that she can be released only in this manner (of 7%°217), but not in
any other manner (such as v3). Md0IN explains that the term 735 excludes v
but not 02°71 DN,

nooIN asks:
— VM NN YVIYND N NINNT )P NI IR ON)

And if you will say; from where do we derive that the word ;722 is coming

to exclude a 71%23° from being released by a wva -
— 0250 NNHA NI RNN XYY 'D2%N NS S0IWNY SHN NPT

Perhaps the word 7123 is coming to exclude the death of the 23%; meaning
that she is not permitted to wed (anyone) if the 23> dies!

n90IN answers:
— DTN 27527 NN NON VYNNI KD NWY? NIDT NN NI2DT 990 U

And one can say; that it is logical that the phrase mw® 7125 (so it shall be

done) is excluding only releases that are done by peoples’ actions -
— YUY 19NT NNOTNT NIIIT V) 13NT

This applies to ©» which is similar to %91 for they are both dependent

on actions taken by people -
% 0u00 XY AN 1999 XY MNT 0NV 17727 NNIY YaN

However a release that is accomplished by the ‘heavens’ which happens
on its own, for instance death; this is not excluded by the phrase 7wy 7722.

SUMMARY

The term 7wy 733 indicates that the only action that can release a fn2’ is
7%°511 (but not vx). However, it does not exclude that she cannot be released
in other ways which do not require action, for instance 027 nn».

THINKING IT OVER
How can we explain that she is not Y% nn with 02’7 nnon?!?

! Various commentaries ("211"X ,°"19) understand that N1voIN is asking that we should also exclude nnn
02’71 [in addition to excluding v3]. The term 7125 indicates that this is the only way; excluding all others.

2 See "R MO who writes: 177 R A1 02> NN 2R MR WY K91 AREY X7 717 7WYna yawn nwye 1937.
? See 1"nx # 136.
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